Ypok-uccsiedosaHue
no memMe <«Bo3sedeHue -8
Ksadpam CyMMbl U pdasHocmu

dByX BbIpa*KeHuu»

MBOY «MBaHoBcKaa COLL>
Yunutenb PbibkmHa H.I1.



YcTHaAa pabota

1.HavmuTte kBasgpaThl OTHOYWIEHOB:

2, x; y; 4a;, 8b;, -03c.

2.Havinute yoBoeHHOe IIpom3BeeHIe:

Xy; 3x; ab; 4c; -0,1a

3.11pounTarite BeIpakeHM:

(xt3y)% x*+y?% (a-b)%, 2xy



DopMy bl COKpaLLEHHOro
YMHOXEeHMUS

(a+b)? = a’+2ab +b?
(a-b)? = a?-2ab +b?



ab b2

(a+b)?=a*+2ab+b?



[lpeo6pa3ynTe B MHOIo4J1€H

(a-3)° =
=g -2-a-3+3" =

—a” - 6a+9.



[lpeo6pa3yute B MHOIOYJIEH

(x+4)° =
=x’+2-x-4+4° =

— x* +8x+16.



(At0)2=A2+2 A0+

S

Popmynel cokpaweHHoro
YMHOXEHUS:

Keagpar cymmsl
Keagpar pasHocTn /




PeOsiTa, Oeperure

3peHue!




HanauTte yaBoeHHoe
npousBeaeHue

(n+6)>=n*+ ... + 30

(M-95n)*=m?-... +25n?
(12a +1)*=144a* +... + 1
(2b-3)> = 4b* - ... +9
(3X +7)?=9x* +... +49



Hangure owmnbKy

1) (x+5)2= x+10x+25;

)(x+7 2=x2+14xy+49y?
3) (2a-1)2=4a2-4a+1;
(
(

- o

4) (x+3)2= x2+3x+9;
5) X-4y)%=Xx2-4xy-16y?



CamocTtoaTtenbHaa paborta
~ 1 sapuaHT 2 BAPUAHT

BeznonHute npeobpasosaHue:

D(y+4)°; D(a+5)*;
2)(8—b)*; 2)(6-c)’;

A-@®)-A24A00
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D(y+4)> =y +2-p-4+4* = Y +8y+16. T
2)8-b) = 8-2-8-b+b>= 64—16b+b.

DNa+5)°= a’+2-a-5+5 = a’+10a+25.
)(6—c) =6°—2-6-c+c° =36—-12¢c+c”.

(A-®)-A'24'0-@



/loMaluHee 3agaHue

n.32, Ne 800 (a-r),
Ne 804 (a-r), Ne 831



KAK HACTPOEHME?

4

o

1. 3poposo! 2. MHe noHpasuncs
Bce noHan! Ypoll!

3. Henb3a nu 4 CryxoTa
NOBTOPUTL?



